Section A Time ‘ken:

1x6= | 0xT= 1xB= [ ]| |4x8= [ ]|[0=4= [ J|5xt2= [ ]
10x6= D ExT = DB = Bl = Tl = Oxl2=

oxe= [ | 7= [ | [2e= [_J|[Pe= [_|[&#= [_J|[ox12= [
3xb= [ ] 2xT= 4xB= Ox0= dd = 2xl2=

axe= [ ]| |e7= || [Toxe- b= Daed= Bxl 2=

ex6= | ]| [&x7= || [5ua- Fixl= 1208= 1x12=

[ {
Texb= [ || |4xT= Bx@= 1:0= 10x4= [ ||| oxt2-

6= [ | (3= [ 1| [e= [ | [t0m= [ J|[3wt= [ || 10wtz ]
s | |92 [ | [3= | |- [__J|[ex= [ [oxtz= ]
Bxf= 10xT= 0xB= [ ]| |2x@= Pud= 4x12= [ |
oxes | |27= [ | [78= | [m0= [__J|[ox= (]| [mz= [
Total 4 Total 5 ]| | Tortal i Total =[] | | Total £ ||| Total =]
Section B Tatal for Section €= /66
——————— e

1:5=D B-B= 2x11= 11=11 0xT = 4B :-6=
£0:8-] Ix11= 60 6= AxT = 64 B-= Tx0=

Gxl1= 54:6= 10x11 12:12 4xT = 70:7=

63T Pl = 45:0-= Ixb= 6611 D3l =

101 2 48P Bxll= 00 =0= BxT= 40:B=

126 Txl1-= 30:6= Oxf= 1081 60 =

6x12-] T:T= 4x12= T2:0= A= 42:7=

14:T7= 40 = 72:B= Ax12= 44-11 Dxii=
Tx12-] 2412 TxT= 35:=T= 0x11= 35 26=
328 Txbi= 0512 0xl12= 24:B- 00 =

1x0= 6012 TxB= ¥ . Ix0 = 16:8=

Taotal Total 4 Total 4 Taotal 4 Total Total =

Taotal far Section D = Pl Tatal &+ D = J132




